596699 -
PARTS BREAKDOWN EI'OOLEX

Industrial

26 25




596840 596699A-1-5 Square Punch & Die Assembly Includes 2 X Punches & 1 X Die to Suit 596699 1.8MM Nibbler
596904 596699B-49-52 Round Punch & Die Assembly Includes 2 X Punches & 1 X Die Suit 596699 1.8MM Nibbl
596909 596699-2 Tapping Screw ST3.9 X 16MM Suit 596699 Toolex 1.8MM Nibbler
596910 596699-3 Rear Motor Housing Cover Suit 596699 Toolex 1.8MM Nibbler
596911 596699-4 Motor Housing Suit 596699 Toolex 1.8MM Nibbler

596912 596699-5 Clamp Suit 596699 Toolex 1.8MM Nibbler

596913 596699-6 Press Board Holder Suit 596699 Toolex 1.8MM Nibbler

596914 596699-7 Tapping Screw PH ST2.9 X 10MM Suit 596699 Toolex 1.8MM Nibbler
596915 596699-8 Spring Suit 596699 Toolex 1.8MM Nibbler

596916 596699-9 Carbon Brush Pair Suit 596699 Toolex 1.8MM Nibbler

596917 596699-10 Switch Lever Suit 596699 Nibbler

596918 596699-11 Switch Button Suit 596699 Toolex 1.8MM Nibbler

596919 596699-12 Capacitor Suit 596699 Toolex 1.8MM Nibbler

596920 596699-13 Switch Suit 596699 Toolex 1.8MM Nibbler

596921 596699-14 Brush Holder Suit 596699 Toolex 1.8MM Nibbler

596922 596699-15 Inductor Suit 596699 Toolex 1.8MM Nibbler

596923 596699-16 Stator / Field Suit 596699 Toolex 1.8MM Nibbler

596924 596699-17 Tapping Screw PH ST3.9 X 64MM Suit 596699 Toolex 1.8MM Nibbler
596925 596699-18 Wind Defender Baffle Plate Suit 596699 Toolex 1.8MM Nibbler
596926 596699-19 Anti QOil Ring Suit 596699 Toolex 1.8MM Nibbler

596927 596699-20-23 Armature Assembly with bearings and fan Suit 596699 Toolex 1.8MM Nibbler
596928 596699-24 Middle Bracket Suit 596699 Toolex 1.8MM Nibbler

596929 596699-26 Needle Bearing HK0810 Suit 596699 Toolex 1.8MM Nibbler

596930 596699-27 Eccentric Gear Shaft Suit 596699 Toolex 1.8MM Nibbler

596931 596699-30 Gear Box Suit 596699 Toolex 1.8MM Nibbler

596932 596699-31 Tapping Screw PH ST3.9 X 42 Suit 596699 Toolex 1.8MM Nibbler
596933 596699-33 Needle Bearing HK0608 Suit 596699 Toolex 1.8MM Nibbler

596934 596699-35 Gear Suit 596699 Toolex 1.8MM Nibbler

596935 596699-39 Needle Bearing HK1512 Suit 596699 Toolex 1.8MM Nibbler

596936 596699-40 Piston Pin Suit 596699 Toolex 1.8MM Nibbler

596937 596699-41 Connection Pole Suit 596699 Toolex 1.8MM Nibbler

596938 596699-42 Piston Suit 596699 Toolex 1.8MM Nibbler

596939 596699A-6 Die Tightening Nut Suit 596699 Toolex 1.8MM Nibbler

596940 596699B-50 Round Blade Bracket Suit 596699 Toolex 1.8MM Nibbler

596941 596699B-51 Fixed Holding Screw Suit 596699 Toolex 1.8MM Nibbler



https://www.toolex.com.au/products/596840
https://www.toolex.com.au/products/596904
https://www.toolex.com.au/products/596909
https://www.toolex.com.au/products/596910
https://www.toolex.com.au/products/596911
https://www.toolex.com.au/products/596912
https://www.toolex.com.au/products/596913
https://www.toolex.com.au/products/596914
https://www.toolex.com.au/products/596915
https://www.toolex.com.au/products/596916
https://www.toolex.com.au/products/596917
https://www.toolex.com.au/products/596918
https://www.toolex.com.au/products/596919
https://www.toolex.com.au/products/596920
https://www.toolex.com.au/products/596921
https://www.toolex.com.au/products/596922
https://www.toolex.com.au/products/596923
https://www.toolex.com.au/products/596924
https://www.toolex.com.au/products/596925
https://www.toolex.com.au/products/596926
https://www.toolex.com.au/products/596927
https://www.toolex.com.au/products/596928
https://www.toolex.com.au/products/596929
https://www.toolex.com.au/products/596930
https://www.toolex.com.au/products/596931
https://www.toolex.com.au/products/596932
https://www.toolex.com.au/products/596933
https://www.toolex.com.au/products/596934
https://www.toolex.com.au/products/596935
https://www.toolex.com.au/products/596936
https://www.toolex.com.au/products/596937
https://www.toolex.com.au/products/596938
https://www.toolex.com.au/products/596939
https://www.toolex.com.au/products/596940
https://www.toolex.com.au/products/596941

PART NUMBER |PRODUCT DESCRIPTION

Square Punch & Die Assembly Includes 2 X Punches & 1 X Die to

596840 Suit Toolex 1.8MM Nibbler Section A: 2 X No1, 1 X No2, 1 X No3,
1 X No5 & 4 X No4

596904 Round Punch & Die Assembly Includes 2 X Punches & 1 X Die to
Suit Toolex 1.8MM Nibbler Section B: Includes 2 X No49 & 1 X No52

596909 Tapping Screw ST3.9 X 16MM to Suit Toolex 1.8MM Nibbler

596910 Rear Motor Housing Cover to Suit Toolex 1.8MM Nibbler

596911 Motor Housing to Suit Toolex 1.8MM Nibbler

596912 Clamp to Suit Toolex 1.8MM Nibbler

596913 Press Board Holder to Suit Toolex 1.8MM Nibbler

596914 Tapping Screw PH ST2.9 X 10MM to Suit Toolex 1.8MM Nibbler

596915 Spring to Suit Toolex 1.8MM Nibbler

596916 Carbon Brush Pair to Suit Toolex 1.8\MM Nibbler

596917 Switch Lever to Suit Toolex 1.8MM Nibbler

596918 Switch Button to Suit Toolex 1.8MM Nibbler

596919 Capacitor to Suit Toolex 1.8MM Nibbler

596920 Switch to Suit Toolex 1.8MM Nibbler

596921 Brush Holder to Suit Toolex 1.8MM Nibbler

596922 Inductor Cover to Suit Toolex 1.8MM Nibbler

596923 Stator / Field to Suit Toolex 1.8MM Nibbler

596924 Tapping Screw PH ST3.9 X 64MM to Suit Toolex 1.8MM Nibbler

596925 Wind Defender Baffle Plate to Suit Toolex 1.8MM Nibbler

596926 Anti Oil Ring to Suit Toolex 1.8MM Nibbler

596927 Rotor/ Armature Assembly with bearings and fan to Suit Toolex
1.8MM Nibbler

596928 Middle Bracket to Suit Toolex 1.8MM Nibbler

596929 Needle Bearing HK0810 to Suit Toolex 1.8MM Nibbler

596930 Eccentric Gear Shaft to Suit Toolex 1.8MM Nibbler

596931 Gear Box to Suit Toolex 1.8MM Nibbler

596932 Tapping Screw PH ST3.9 X 42 to Suit Toolex 1.8MM Nibbler

596933 Needle Bearing HK0608 to Suit Toolex 1.8MM Nibbler

596934 Gear Shaft to Suit Toolex 1.8MM Nibbler

596935 Needle Bearing HK1512 to Suit Toolex 1.8MM Nibbler

596936 Piston Pin to Suit Toolex 1.8MM Nibbler

596937 Connection Pole to Suit Toolex 1.8MM Nibbler

596938 Piston to Suit Toolex 1.8MM Nibbler

596939 Die Tightening Nut to Suit Toolex 1.8MM Nibbler

596940 Round Blade Bracket to Suit Toolex 1.8MM Nibbler

596941 Fixed Holding Screw to Suit Toolex 1.8MM Nibbler




